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@300 @ 40° ® 50° @ 60° ® 70°

AABC 9] eJAlo] H O ¢ o, %ZBOC = /A /A = 40° °]BEZ
/ABC = 70° , /BOC = 80° o]t}.

AABC 9] YAlo]l F 1 ¢ uff, %AA+90° = /BIC o]|B&2

/BIC = % X 40° + 90° = 110° o]t}

whebA] /BIC — /BOC = 110° — 80° = 30° ©]t}.




2. o2 1o A M G = aABC 2 F+A54le]t}t. DE//BC, DF // AC
,AB//EH ¥ W], DE + DF + EH & F5}oiz}

AD:AB=DE:BC o|E&
2:3=DE: 18, DE = 12(cm)
BF:BC=DF:AC 0|22
1:3=DF: 15, DF = 5(cm)
CE:CA=FH:ABo|EZ
1:3=EH: 12, EH = 4(cm)
~DE+DF+EH=12+544=21(cm)
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(C = 3E5, /CED = /CAB |22
ACED & ACAB (AA E2)
CE:CA=CD:CB
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o2 "4 H G, 1+ 22 AABC 9 FAFAH T YAl ol
DE//BC ©]1 AB = 33cm , BC = 36cm € @], AB : AC £ HI27
et AL?

@® 7:11 ® 9: 11 ® 7:13
@ 9:13 (@)11:13

B ~
DE : BC=2:3,DE:36=2:3, DE = 24(cm)

AB : DB=3:1,33: DB=3 : 1, DB = 11(cm)

DB =DI, IE=EC o]B&2, EC =IE = 24 - 11 = 13(cm)
~AC : EC=3:1,AC: 13=3 : 1,AC = 39(cm)

AB : AC=33:39=11:13
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o5 oA 9 O & §EAF9] dol& r-3 ol2t
3+r,0O0D=r-3

00" =104+r, O'E=10-r

olt] AODO’ @ AO’EQ” (AATS) 0|2 &

00’ : 0D =0'0": O”E
B+r):(r-3)=(10+r): (10-7r)
(r=3)x(10+r)=(10-r)x (3+7r),

2r? = 60, r* =30

. r= V30 (. r>0)

A ¥ O 9] Yol (V30)2 x = 30x o]t}




